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Bond Value = 100 x [ 1 -1 / (1 +.10)°] / 0.10 + 1000 / (1 +.10)°
=100 x [ 1-1/2.593] / 0.10 + 1000 / 2.593
= 100 x [ 1-0.385]/0.10 + 38
=100 x 6.15  + 385
= 615 + 385 = 1000
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Bond Value = 100 x [ 1 ~1 /(1 + 0.12)°] / 0.12 + 1000 / (1 + 0.12)
=100 x [ 1-1/3.105] / 0.12 + 1000 / 3.105
=100 x [1-0.322]/0.12 + 385

= 100 x 5.65 + 322 = 887
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Bond Value = 100 x [ 1 -1 /(1 + 0.08)*°1/ 0.08 + 1000 / (1 + 0.08)*°
= 100 x [ 1-1/2.158] / 0.08 + 1000 / 2.158
= 100 x [ 1-0.463]1/0.08 + 385
= 100 x 6.71 + 463 = 1134
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